ECE 3600 Final Exam Information

You may write more on this sheet.
You may also use Exam 1, 2 & 3 Information sheets

Power Flow
Admittance Matrix
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Faults AL Sl
Symmetrical faults  Just analyze on a normal per-phase basis (P bus) (gﬁiﬁé %”uss) fererence
Unsymmetrical Faults
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Pre-Fault Setup Find pre-fault V; and Iger'. E"p= V7l gen’z" 9 It can be helpful to find E1,4 and
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Circuits are on the back of this sheet all the Thevenin impedances

Zero-Sequence Impedances

Anything connected A looks like and open.

Anything connected Y without a center-to-neutral or
ground connection also looks like and open, otherwise:

Transformers are all open from both sides except:
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Zero seguence

Negative sequence

Positive sequence

Phases A,B& C




